Soustraction de Nombres - Droite Graduée (G)

Utlisez la droite graduée pour calculer chaque différence.

8—5=
0 1 2 3 4 5 6 7 8 9 10
10 -2 =
0 1 2 3 4 5 6 7 8 9 10
1T—3=
0 1 2 3 4 5 6 7 8 9 10
10 -9 =
0 1 2 3 4 5 6 7 8 9 10
8—4=
0 1 2 3 4 5 6 7 8 9 10
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Soustraction de Nombres - Droite Graduée (G) Réponses

Utlisez la droite graduée pour calculer chaque différence.

1. 8—5H= 3

0 1 2 3 4 5 6 7 8 9 10
2. 10—2= 8

0 1 2 3 4 5 6 7 8 9 10
3. 7—3= 4

0 1 2 3 4 5 6 7 8 9 10
4. 10—-9= 1

0 1 2 3 4 5 6 7 8 9 10
5. 8—4= 4

0 1 2 3 4 5 6 7 8 9 10
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